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Note : Use separate answer sheets for Part-I and Part-IL Be 

brief and precise in your answers. Draw neat and labelled 

diagrams, wherever necessary. 

PART—I 

ANIMAL PHYSIOLOGY 
Note : 	Attempt any five questions. Question No. 1 is 

compulsory. 
1. 	(a) Choose the correct option 	 1 

Ecdysone is 	 

(i) a hormone of molting in insects 
(ii) a juvenile hormone 

(iii) a Neurosecretary hormone 
(iv) an enzyme 

(b) Fill in the blanks 	 1/2)4=2 
(i) The leaping of action potential 

between the nodes of Ranvier is 

(ii) Growth harmone is secreted by 

(iii) Bile is synthesized in 	 
(iv) Green gland is found in 	  
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(c) Match the following : 	 1/2x4=2 

(a) Troponin 	(i) 	Blood clot 

(b) Progesterone (ii) Testis 

(c) Sertoli cells 	(iii) Corpus luteum 

(d) Thrombin 	(iv) Muscle 

2. How is action potential generated and conducted 	5 

in a nonmyelinated nerve fibre ? 

3. (a) Explain the process of carbohydrate 	4 

digestion and absorption in mammals. 

(b) Name any three gastro-intestinal 1 

hormones. 

4. Give the structure of a nephron. Explain, How 2+3 
glomerular filteration is regulated by renin-
angiotensin system ? 

5. (a) Give the detailed structure of mammalian 	3 
heart. 

(b) What are the differences between blood and 	2 

lymph ? 

6. (a) Explain the role of carbonic anhydrae in 21/2 

transport of carbon dioxide. 

(b) Explain Bohr's effect 	 21/2 
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LSE-05 	 4 



LSE-05 

BACHELOR OF SCIENCE 

Term-End Examination 

June, 2012 

LIFE SCIENCE 

LSE-05 : PHYSIOLOGY 

Time : 1 hour 	 Maximum Marks : 25 

Note : 	Q. no 1 is compulsory. Attempt any four questions 

from Q. no 2 to 6. 

PART-II 
PLANT PHYSIOLOGY 

1. 	(a) Fill in the blanks : 	 1x2=2 
(i) Mg2÷  is a part of 	molecule. 
(ii) The nodule specific proteins produced 

by the host are called 	 
(b) Choose the correct option : 	 1/2x2=1 

(i) During photosynthesis in green 
sulphur bacteria (H2S/ H20) is the 
reductant for the supply of electrons. 

(ii) The chromophore of phytochrome 
(contain/does not contain) metal ion. 

(c) Write the term used for the following 
statements : 	 1x2=2 
(i) Synthetic chemicals used as hormones 

are referred as. 
(ii) Part of the capillary water that is held 

very tightly with soil particle and is 
not available to the roots. 
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2. Describe the experiments that indicated that 	5 
photosynthetic processes consists of both light and 
dark reactions. 

3. (a) Name any three essential elements and 	3 

mention their functions. 

(b) What is meant by 'loading' and 'unloading' 	2 
of organic nutrients during phloem 
transport ? 

4. How is opening and closing of stomata 
controlled ? 

5. (a) Describe any one environmental stress 	3 
condition. 

(b) Describe the role of gibberellins in a 	2 
germinating areal grain. 

6. Write short notes on any two of the following : 

(a) Leghaemoglobin 	 21/2x2=5 

(b) Vernalisation 

(c) Deficiency symptoms of any five micro 
nutrients. 
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